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PART-C [Marks : 100
GEOGRAPHY
(Marks : 35)

51. 'Where do you find 'Guttenberg Discontinuity'?
KOS 0f etotd! 25,6 &od?
(1) Between Outer core and Inner core.
Deond oy Sootieo - 57290 Soi Sootipos Bods

\,(Q/}( Between Mantle and Core.
Erro - Sois Soodeo S5
(3) Between Crust and Mantle.
S0 — o Bog

(4) Between Crust and Asthenosphere
girdtseo ~ JRT e58e0 B8

52. "Aravallis" are a typical example for
lesTriS0 STres’ B8 35,0 SoPSGe

(1) Young fold mountains (2) Block mountains

Stes S0 SEEres POt BT
v(?:} Residual mountains (4) Domed mountains
eS8 BT Sod BT
53. Duricrusts are widely found in climatic regions.

G OEREY JE ST ———— SIS RS SroTred” Ao

(1) Desert (2) Humid Temperature climates
o) es( $38F 0 Srovw

(3) Polar climates \.26 Warm and humid monsoon climates
$yS8E 3 oz S SoBai es otossD IS RS EroTe

54. The weathering process which converts "Anhydrite" into "Gypsum"
‘TGO EHo' T B0 BQog IS

(1) Carbonation (2) Oxidation
S58Te30 esdysiese
\/({) Hydration (4) Hydrolysis
esif50e0 a0 DgHes0

[ET.O.

55 A
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55. Sedimentary rock formed by consolidation of angular rock fragments.
5'e3c0 Jerpome )Eemso oxoe Dds esds %o

(1) Conglomerate (2] Breccia
Sormastel [3levey

(3) Sandstone (4) Slate
Srasstron e

56. Which one of the following is a diagnostic feature of 'Rejuvenation'?

‘DIOZSTVL 0OBoDHIT 328 5 FRETHo DB?

(1) Peneplain V«fﬁ Incised Meanders
2055 3857 58 Sgres

(3) Ox-bow lakes (4) Pot-holes
DT oSz SogrsS Heosy

57. Which one of the following is not an erosional land-form.

£ 308 TS | SOEOL SURETS 08 D89

(1) Zeugens (2) Pot-holes
Sl ToV SoersS Hores
(3) Cirques 'vf(} Dripstones
3&,e0 DT Foss

58. Which one of the following is the most violent type of volcanic eruption?

54§08 TRE’ ©F HERS eyt ISR S¥o DO?
(1) Hawaiian (2) Icelandic (3) Strombolian \,(’Aﬁ Vesuvian
o 88 oReol 65 (o 0as 6% DS S¥o

59. While proposing the doctrine of Isostasy who made the statement "Mountains have Roots".
FIRSoRd SopoorR) EOIA0D Hothod” “HTre Sureres eTon! G (B80S B0 TG
V1) Airy (2) Bowie (3) Hayford (4) Pratt
20 e b el

60. The thickness of the 'Stratosphere' is highest at this place.
B3 ZroBos” e eseso’ D Sooto $9A o8

(1) Over the Equator ) Over the Poles
S Groseps &) oo

(3) Over the Tropical Regions (4) Over Temperate Regions
5003 B Soodere s BBBEG Sootivo P
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61. 'Upper air inversions' mostly occur in this region.
TESCe Rerios’ $oaed ‘SPuiee IS BPe JBIT Be Eromred’ Sogidaron
(1) Over Equatorial low pressure cells. Over sub-tropical high pressure cells.

SPSGOT oS roTe A5 es0105 Sooce e bes Sromrepd
(3) Over sub-polar low pressure cells. (4) Over polar high Pressure areas.
SIS SN (FroTre S35 RS BES FroTrops

62. 'Rain Shadow Region' is associated with this type of rainfall.
MG TN @roBio” Soopgolr B SEIS 6508 Sowegio DA &b

(1) Convectional rainfall (2) Frontal rainfall
ROSD g0 ; TE SEBo
\/{3} Orographic rainfall (4) Cyclonic rainfall
SBa SPrSo SETD SgJBo

63. The Location of ' Continental Rise'
‘Po&BS I (Soeldod TF) &l

(1) Coastal areas (2) Between Continental shelf and Continental slope
88 Fromred 20EAS BoB-Potds Trese 306y
‘_/'é:l At the foot of the Continental slope (4) In Submarine plains.
POSE Teo o SIS SIRETBEH WoTed”

64. The first two important salts in the sea water
B80S eeredie) Dol Dot Socgg SETed

(1) Sodium Chioride, Calcium Sulphate (2) Sodium Chloride, Magnesium Sulphate

Faoo §TE, S7DaX0 58S Fdawo §BE, Bohpwo $8e5
(3) Sodium Chloride, Potassium Sulphate | (4J Sodium Chloride, Magnesium Chloride
Féavo §BE, Serholo $8yS " aavo §85, Dofpdabo S8
65. Which one of the following is not a Calcarious Ooze?
B2 (208 TS Soipd @P0 570 D82
(1) Globigerina Ooze (2) Pteropod Ooze
Rasb @o aEFE @S0
(3) Cocolith Ooze \/:4) Diatom Ooze
A 508 %0 oTreso @
o [PT.0.

55 A
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66. Dhupgarh peak is the highest point of ..................
2 SBFewed’, 6rDrb 85 dvse

ﬁ) Satpura ranges (2) Vindhya ranges
TENT @rves Jodss @eoes
(3) Aravalli ranges (4) Maikala ranges
eT5d @eoen ose @3

67. Malanjkhand mines in Madhya Pradesh are important for .........
BGS0EE R Soogarol Kieo BS 529

\/(1} Copper (2) Chromite (3) Zinc (4) Gold
o Eoe5 = . 2omdo
68. Dindi or Meenambaram is a tributary of ...........ccco.ocovevecmreiiirieannes
Bod 35 Moot 84 508 &350
(1) Godavari (2) Kaveri ) Krishna (4) Mahanadi
R¥ it 550 $% R Eenta)

69. Which one of the following rock systems is the main source of coal in India?
2 $o8 20 3 3o SPPes roBE0ES” TV DG TH0HH BneFod?
(1) Vindhyan (2) Dharwar \AS} Gondwana (4) Cuddapah
DocisS Tob Rlomye 55
70. Which of the following is not correctly matched?
52 (30D TED D 3 2O 2BSES0EBE?

Mine Mineral
(1) (%e0)
(1) Hutti Gold
e oo
/ (2) Talcher Iron
=86 gisos00
(3) Karanpura Coal
SESHS &
(4) Nigru Petroleum
tollyou 258

55



¥, i)

71. Which one of the following is not correctly matched?
54 1S0B E550D0 O et S SBICTESH?
Pass State
(s300) (oge)

(1) ShipkiLa Himachal Pradesh
e o b T

(2) Niti pass Uttarakhand
Ded 5080 &siopols

(3) Burzil Jammu and Kashmir
wbad 253803 0Bk B0

/(4) Bomdila Sikkim

FAGer 2§

In which year, Alfred Weber has proposed the theory of industrial location?
D Bo%8508" eSRE Dus BOFe THS DEpostoos ESTOTR?

»
AP7 (1) 1809 (2) 1919
(3) 1902 (4) 1912
73. Which one of the following is the largest producer and the only exporter of wheat in the European
countries? '
o5 BES00s’ §od B350 D Do RGeSy HEBS® eirdo Sodao JB¥ NOSeSTE?
v/(lj France (2) Germany (3) UK (4) Sweden
vy ey Dol SoficsSo A
74. Which one of the following countries in Africa is important for tea cultivation?
56’ D Do BOLL SEHToRBeRd Swopge?
(1) Ethiopia @) Angola /(3 Kenya (4) Tanzania
2OATHAT eoffer &g ercerdoXs
75. New England region of U.S.A. is significant for
608576’ Brgormo @roso 808 B
(1) Paper Industry \// (2) Cotton Textile Industry
S SBED Sres 53 S0ESe
(3) Steel Industry (4) Automobile Industry
" €5, 50 e D0DS SOESe
s ' [PT.0.

55 A
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76. . The most populous country in Europe is ...........ccoeveciiinnnness

258" 00 erer SDAS Do
/(1) Germany (2) France (3) Ttaly 4) UK
e:ri‘@ PR 2630 oot §cﬁd.5.1

77. Which one of the following is not correctly matched?
&2 808 508" O = BT 2836008589

Country Regional name for shifting cultivation
(D) (D3RS gseiaicoRe LRSI DoKinds )
(1) Brazil Roca
Sas s
(2) Indonesia Ladang
et evel oGroh
(3) Venezuela Conuco
DioEer £58°
\/(-‘-l} Congo Chengin
SoR DoAS

78. In Asia, Anatolia plateau is found in between.............c...coovvnnens
SIS, eS0T SR &2 5265 DS

(1) Elburz and Zagros mountains (2) Altai and Yablonovy mountains
Ieh Bobats e StsESoes S0 S0 Do BeHtes

(3) Pontic and Taurus mountains (4) Altyn and Tienshan mountains
Froedt SoBokn et Shoons eBS So0M0 HoNSTS SHS0e

79. In which country of Asia, the cyclones are locally called as ‘Bagnis’?
SATER D B¥os” SETHoniss Fsor ‘wfyey’ @ HDDEH?

ﬁl) Philippines (2) Indonesia (3) China_ (4) Malaysia
Oy CrRERTeve oo So8batr

80. Which part of Asia is generally called as ‘Land of Five Seas’?
SRS 2 SroBods ‘Hod SHonoe 27 & HEDEH?

(1) South - East Asia ,\AZJ South -West Asia
eSO e DS e

(3) South Asia (4) North - West Asia
G8es esdor T St

b
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81. During Hot Weather season, the occurence of thunder storms in Uttar Pradesh are locally called as
FV5e0S” SBUSHES” HoPDod ‘b BIvony FVFon 250D HEDED?

(1) Norwesters \/(2) Andhis
O esoben
(3) Kalbaisakhis (4) Cherry blossoms
sdgrden 26 ARREES
82. 'Which one of the following states registered the highest decadal growth rate of populations between
2001 and 20117
&2 08 S5S0IS D TEgied” 2001 $oboko 2011 Savgo Sogks IS eTrer NG TBoH TAPE
DohaGsa?
(1) Uttar Pradesh \/(/2) Arunachal Pradesh
EBOSDE eersd 3508
(3) Bihar (4) Rajasthan
858 CBRIS

83. 'Transhumance is a popular practice of livestock ranching in ;
Tedes; SHT0 SO0 ST RN BoBst @58 SGB I, B08?

\/ 1) Scandinavian countries (2) Saharan and Arabian deserts
T, eaRDALS BEswed” B8 5080t ¢TDANS JEtoed’

(3) South - West Asia (4) Asian high altitude plateaus
DS e’ SRS 08 IBY LT BNeS’

84. Which of the following iron and steel productioﬁ centre is known as the Pittsburg of Japan?
5+ 808 TVE' D R~y HEA Soery e g, 2eHpd e HEDEE?

\/(1) Yuwata (2) Kobe
oot §%5

(3) Osaka (4) Tokyo

P i ¢5°8%

85. What is the local name for shifting cultivation in Western Ghats area?
B &ioson ProBod” DS SEAratons AL DSl BIEH?

(1) Dahia (2) Watra
Garalr T
/(3) Kumari (4) Thuming
500 2s20h
A
. [PTO.

55 A
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HISTORY
(Marks : 30)
Which among the following represents the mesolithic period?
B+ $o8 £52008 T3E" 50455 Boraonsooso BCNEANB J67?
(1) Handaxe A3) Triangle tools
3argd 5008%,£359) 30500620
(3) Polished tools (4) Rough stone tools
SAn Daeds B800ew S0 CPOBS0LY
Which of the following metals was not known to the Indus people?
51§88 HEYR STrBwed” otk THOSE Baed 3DAIB D62
: /(1’] Iron (2) Copper (3) Bronze (4) Siiver
F0 o 36 ol
Name the cause of all sorrows of humans according to Buddhism
z?%i;ﬁoﬁm EER0R0 SRR ey CopRooosd SRR BovdhEw
(1) Illusion (2) Power
C Sra SOSE0
B) Desire : (4) Haste
§08 Fossaren
Who first deciphered Asokan inscription?
- @F0D BoTiard) BuotiRooced SSTBSRNE?
(1) Mortimer Wheeler /é} James Prinsep
S570350:6 Db By B0
(3) B.L.Rice (4) SR.Rao
£.06. 0 JR.esb. o5
Which religion did Kanishka patronise?
50),650 eS00DN SoBTp 87
(1) Svetambara Jainam (2) Kalamukha Saivam
Fgrond 8o SR B0
(3) Bhagavatism _/(4) Mahayana Buddhism
gt s ) HRTIrS Fgo
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92.

93.
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Who wrote Panchasiddantika ?

Jo JToBE osEE IS8

(1) Aryabhata \/t{) Varahamihira
esseied SorERsETS

(3) Charaka (4) Susruta
[ : S

Who founded the Rashtrakuta dynasty?

TRETE Treiod ﬁ;:’:gza;ﬁda?

\/(1} Dantidurga (2) Krishnal

o8BS D63 H

(3) Tailall (4) Vikramanka
Bt Bo DSy

With which South Indian dynasty is Banabhatta's name associated?
ereaafind b O s aTOH TreSoEind” Sowodisn SORCIRA?

(1) Vijayanagara Rayas (2) Cholas

DescoiiNG TrabeT: Seheo
\/(é} Pallavas ' (4) Pandyas
SO rotieD
94. The most famous Chisti Saint based at Delhi was

&0 $0iTes’ Bardmrods DB IS

(1) Shaikh Nizamuddin (2) Badauni
8 Derso0dS 2e5esoR)

(3) Sadiq Isfahani (4) Shaikh Mubarak
08 3Ty 28 Swoerss

25,

@ =

Which produce was widely exported from the Vijayanagara Empire?
2 &3 DesclbRNG e dood BT DS DokeEd?

(1) Tea (2) Coffee
e 5%

(3) Tobacco \%4) Black Pepper
ZreEs Py dairen

[P.T.O.

55 A
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96. Gulbadan Begum authored which of the following books?
B2 $od £S5 (foTred’ rHeyssS Sifo S 2867

(1) Muntaquab-ut-Tawarikh (2) Tarikh-i-Alafi

- Sowotsees §T08 T OS-a-eoD
_/(3) Humayun Nama (4) Tarikh-i-Firozshahi
TSRS TEF S0P -g-0b By

97. Which ruler of 16® Century India introduced local language, "Hindvi", for administrative purpose?
SETES BT PSR 30TeHes, SOTEITED rodalb rEahs “irols” O ERERgNON?

(1) Babur (2) Humayun
wreb Susoaars
B Sher Shah (4) Akbar
2D w6

98. Which Mughal Emperor got the Shalimar gardens laid in Kashmir?
595 & TBErb eTrESTe Bowodd Snod BENE 557

(1) Babur (2) Humayun
arad Sosoafars
\/é} Jahangir (4) Aurangzeb
essrofb ToohEes

99. The only Hindu follower of Din-i-Ilahi was
B5-3-30rd 88005 BY Irotis esontnd

(1) Bhagwan Das (2) Raja Todarmal
TS TR oo SeEbsod

(3) Tansen v@ Raja Birbal
TSR0 oo DS

100. The Silhadars in the army were to have their own horses and weapons under the following rulers
2 o8 S500IS $0TeHe Forinsd” PG LETthes Hi5 ST SaLTE TR SH0E
EnSSonosedd

(1) Mughals wtﬁ Marathas
Sacdiomoen m@m'
(3) Devagiri Yadavas (4) Vijayanagara Rayas
A OBAS oXrGSTreren DesoRsdnG craheTt
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101. Who was the first Governor-General under the English East India Company rule in India?

OSBRI 208 HaRodolr Fens” HHpe: DookRastsed NS estS 3607

(1) Cornwallis (2) Robert Clive

08 700 b3S
2z

(3) Lord Hastings A&) Warren Hastings

&d Srdoh . TOS argoh
102. Who introduced Permanent Revenue Settlements?

TS Tanry ATl ERT0eds BEe?

(1) Macaulay \/({) Cornwallis
2057 SR

(3) Alexander Read (4) Ripon
wdrosd 86 B35

103. During whose Viceroyalty was Indian capital shifted from Calcutta to Delhi?
2 @IS o uEdR Talrind” rostE carl SesEs Sood $08 Srgmdsa?

(1) Chelmsford (2) Irwin
LS 3850

_/(3) Hardinge 1 (4) Minto
Sotss Fg0rs As0es*

104. Name the party founded by Subhash Chandra Bose
R0 Boel’D L 2oDS G Do Bt

\/é Forward Bloc (2) Left Wing
e o8 a5 2of
(3) Communist (4) Bengal Congress
5078 Bormrd sTofie

105. The first country to have agreed for the Nehru's Panch Sheel in 1954
BT POTBoDS Soiery 1954 & SArBoDN DeoggBweed BFsn

(1) Australia (2) New Zealand
STRterey wséw&
(3) Fiji (@ China
I o2 D
ss

[E.T.O.

55 A



106. Who authored Social Contract ?

S sToErS SB00s 557
(1) Voltaire (2) Marx
\/é} Rousseau (4) Montesquieu
Falyrvid ORI, 5
107. Who introduced 'Continental System' ?

'SroedRotrd BHS0RD ERENS DI

(1) Louis XV \,d Napolean I
SETRS e Ase) RSVABS

(3) Mussolini (4) Louis XVIII
SZ482 G eroer

108. Quadruple Alliance was signed by Russia, Prussia, Austria and
STy TrazgErealed ) BEes Oy, B, SRl Sedaks
(1) Italy (2) France (3) Poland vé}' England
368 oy Eylaletal sofok

109. The Treaty of Frankfurt of 1871 was concluded between France and
1871-gr0538 %08 0500855 BFren @y Sobake
(1) Iraly : \/({}( Prussia

5620 s
(3) Austria (4) Turkey
es(alr By,

110. Name the leader of the Serbian Revolt of 1804
1804 35 BoEhs58" eBAD 2EOE Soiberen T

\/(’f ) Kara George (2) George Ferdinand
o e PPl
(3) Joseph Tennyson (4) Charles Sylvia
&5 Qs 75 D5

g
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111. Suez Canal was completed under the supervision of the engineer
Srclof 3775 cor oand SERERE” rgowod

(1) Sir Arthur Cotton \/é}. Ferdinand de Lesseps
20 eagd eaS Pl & B,

(3) Sir Samuel Baker (4) Mustafa Haider
26 TRord 856 SRy apesd

112. Archduke Francis Ferdinand was assassinated at

s8ErS SR PgTol Ty Dabards Sex

(1) Bucharest (2) Vienna
2SR L Jaby

\/{{) Sarajevo (4) Naples

Sooas 39

113. In 1926, Mussolini concluded the Treaty of Tirana with
1926 &° 500D ST SofD Dot Besw

(1) Austria 2) Albania
esQC - eHar

(3) Belgium (4) Poland
88ao ook

114. After the First World War, Germany's coal mines area called Saar was ceded to
Doodse] (SBoB obogio B0 203 DodD S Mo EroBRud “b" eicteds BF5w

\/({) France (2) England
@™ z0ifol
(3) Russia (4) Italy
ST 368

115. On 16 April 1947, the term "Cold War" was first used by
MRy CXagEn” e SPeols 16 DR 1947 5 ScIrAcDS Boatkd 58

(1) Disraeli (2) Baconsfield
o e . 85508
\/({} Bernard Baruch (4) David Swan
Bond s GG TS

A
55

[PT.O.
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CIVICS
(Marks : 15)

116. Who said, "Without history political science has no fruit, political science without history has no root”
“50589 Tadd T80 Jodirdo Tadd T50 80 K0P Srediro” ) SRTIE?

(1) Garner _ wA2) John Seeley
5B . =5 O

(3) Gettel (4) Lasswell
a3 Thond

117. The titular Chief Executive of the State Government is

CRSELEEed’ TRRIE Sy SERRTETES D

/(1) The Governor (2) Chief Minister
S Soopgiood
(3) The Chief Justice of High Court (4) Deputy Chief Minister
T 5 PO TSy &35 Boogiood

118. "Law is the command of the Sovereign". Who said this?
“PEETSrHS0 epd TRE0" 6l e IS?

(1) Willoughby (2) T.H. Green
259 e3.25. B
(3) TH. Holland /(4) John Austin
¢33 B0k 2PS e
119. 'Judicial Review' is a feature of
e BTV O ofeo
(1) Presidential Government (2) Parliamentary Government
e (Sabso TgRooed Geodo
(3) Federal Government (4) Unitary Government
e RS0 - D80S (EebEgo
120. The father of Public Administration is
(208 TOHTR DTRT U
(1) L.D. White (2) EW. Willoughby (3) Luther Gullick v (4) Woodrow Wilson
5.8, DS 25.cses. DED er¢sb 88 &E s

@ »
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121. Who propounded 14 principles of organisation?
14 3rgre $i5880 B3T8008 BHE?

(1) Paul Appleby (2) EW. Taylor
S e GE) .ea3s, 306

(3) Elton Mayo N/ (4) Henry Foyal
IS oddr TR FanS

122. The 'Minnowbrook Conference of 1968’ is relating to
1968 2oSyears sx0ddo, HDS Bowododod

/(1) New Public Administration (2) New Public Management
BB Se0ts e SRS (Seots D
(3) Organisation and Management - (4) Organisation and Methods
35555 300X e 55 SoB00 Se5oes

123. Who was the modern writer to undertake the study of Bureaucracy?
SEG Iyl 650080 DATERD) SEHIE S50 JHE?

(1) Max Weber (2) Robert Michel
" (3) Karl Marx (4) Maslow
=5 570y 37

124. Who described 'the Indian Constitution is a quasi federal'?
g0 G“ﬁ‘sodo *@g a’::;’:.:'e“a:;‘ &) 52&‘.’)?&3&’353?
(1) Appleby (2) Maris Jones \/{3} K.C.Wheare (4) Austin
&SD 508 £ 2226 €535

125. The Articles that provide the Centre-State relations in India are
g BEod™) So-org, Komorres O S5tees BOaHEo0?

//(1) 245 to 254 (2) 255 to 260
245 H00d 254 $55% 255 Hood 260 555
(3) 260 to 265 (4) 257 to 266
260 S0 265 S5 257 So0é 266 S5
A
&8

[PTO.
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126. The Attorney General of India is appointed by

TS el SCERs NeLI0WRE
(1) Prime Minister of India ./ (2) President of India
grGE (B Sool8 oS TRd
(3) Finance Minister (4) Home Minister
&8 oo o Soo®
127. The Government of India is known as Parliamentary form of Government because
eT08 (080 TEDo0d BUTE FEdBHN JoSH¥oLrd?
(1) Parliament is elected by the people (2) Parliament is a sovereign body
SrERo0eT Baed JRySieo A0S SUFTE R0y
%3) Parliament consists of two Houses (4) None of the above.
TR0t Dotk Hefors DAoL 280k S%H
128. The Chairman of National Development Council is
O e Soosd e
/ (1) Prime Minister of India (2) Finance Minister
O BTrEsiod 0% S00@
(3) Vice-President of India (4) President of India
B SITFRS OB TS
129. The Chairman of 13th Finance Commission is
135 Egi oo Hﬁsﬁ)ﬁ:
(1) C.Ranga Rajan \/(/2) Vijay Kelkar
. Sorores Decb S5
(3) A.M. Kusro (4) K.C. Sampath
J.Jo. HEF 3. Hoss

130. Which one of the following is one of the characteristics of good governance?
&b 06" DB BoBbIreD e¥nnen?

(1) Transparency (2) Efficiency (3) Effectiveness (4) Administrative culture
TGS - B%gs : SOFESE5 e oy, &

9w
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ECONOMICS
(Marks : 20)

131. "Economics is the Science of Wealth" is stated by
"GTHRR0 DoSETRETT $57,E50050

(1) I.B. Say (2) David Ricardo
8.0.% 28 oG
_A5) Adam Smith (4) Alfred Marshall
S u5 <38 5758

132.  Which of the following explains Consumer's Equilibrium?
St $08 TS IVAPAED BoFogiants WO

MUx Px
(1) e
MUy Py

MUx _ Px
) Moy " Py

/ MUx 0 &
(3) MUy Py

(4) None of the above
JBasE

133. Total utility will be maximum, when
DooEE0 BAFESSs W Gapedas
(1) Marginal utility is zero
edros (BATEESD EPSFoT SR
(2) Marginal utility is at its highest point
&0 HATENEL VBOY Townd® doti
(3) Marginal utility is equal to average utility
&m0l [BATESE M (SMrenstnd PSS Gotins
(4) Average utility is maximum
DD (Balresss ﬁ@%;ﬁmm [eblbTalmb il

0w

[P.T.O.



134. Giffen Goods are -
A SHodHeo esm
(1) Superior goods
oo G SHyHos
(3) Luxury goods
Derid SgHe

135. The cost curve which is never 'U' shaped
V' 5575007 INET S0t nscméaa
(1) Marginal cost curve
&rol SoX0e
(3) Average variable cost curve

21130 156 BgoOep

136. Personal disposable Income is
e85 Jgoirg esTraibBon ST

30

v®

(4)

@

V@

Inferior goods
TBC%0 SAHew
Essential goods
D SgPes

Average cost curve

Siteas :;Ssm’f:fp

Average fixed cost curve

R0 28 5500 B

/(1) Personal Income — direct taxes — non-tax payments
S8 ST S5 Shpe-SRy JBS DoHes

(2) Personal Income — Indirect taxes
58S esTrolBn-S0Y Shge

(3) Personal Income — Non-tax payments
S35 ol ~ By dbBs DoH

(4) Personal Income — Subsidies

S50 m-éﬁa&m
137. Broad Money refers to

Dot (¢S50 ST
(1) M

\/{3) M3

@ »

(2)

My

(4) My
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138. PQLI was first proposed by
PQLI & Roocsede 39380058
(1) Mehboob-Ul-Haq /(2) Morris.D.Morris
Wrard-ud-8 7B &. TR
(3) Jagdish Bhagwathi (4) Amartya Sen
Rl ST RD
139. Which of the following tax is imposed by State Governments in India?
PPEBGES0S TgebES0e DPoBo S8y
(1) Personal Income tax (2) Wealth tax
;'J§§ﬁ@ earall S8y R0 Sy
(3) Services tax \Ad-} Agricultural Income tax:
NS Shy Sgaral esorah S5y
140. CENVAT is related to
CENVAT 894 S020080058
(1) Customs Duties (2) Sales Tax
5350 RoosSwes GBS S8y
\/ (3) Union Excise Duties (4) Corporate Tax
Sois Jyer HoSwomo SO 55y
141. Which of the following is the most appropriate action by the government during the period of
recession? )
6B 370t 3058008’ 0 $ol TRE® e ePoNeIatRos Bevs Bt D82
\A 1) Increase Public expenditure (2) Reduce Public expenditure
g ;5501335.1}&3 fola bl ety 55013:133350 Bhotot
(3) Impose new taxes (4) Increase the tax rate
BB S Ddotor S0y oo

% >
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142. The custodian of monetary reserves in India is

eTOHLESS° G Dogeo Sotfosnsd

(1) NABARD \/{2) REI
A5.2.0.0.e35.4. es5.2).2.

(3) SBI (4) Union Finance Ministry
JRD Sos &8 Soodds T

143. Phillips Curve explains the relationship between
28, O oo (Sod TR MG Dowodihn Besdio

(1) Demand and supply of money (2) Rate of interest and investment
g0 Sy, AT SoBoiko SEoR 3GBe BoBa: Bepwd

(3) Rate of tax and employment \At) Rate of unemployment and inflation
5506 0Bty &E§HS QEEGHEOED S0 BT e

144. According to 2011 census, the state with highest sex ratio is
2011 Newosto (357050 o508 Solf IR Mo TER0

(1) Untar Pradesh (2) Madhya Pradesh
&8 505 BoGgSDE
Vﬁ;a) Kerala (4) Karnataka
e Soness

145. Sarva Shiksha Abhiyan Scheme was launched in the year
5558 edoirS S8R 0ol SoSthtH

(1) 2000 ﬁz; 2001 (3) 2002 (4) 2003

146. The First Five Year Plan was formulated on the basis of the following development model
2006563 Sois B¢ FeToE 0o §obd H)B SHrT @ISO SrrodoBinddd

(1) Harrod-Domar Model (2) Mahalanobis Model
EE-E5b St 2TeTHD StoTT

(3) Keynesian Model (4) Gandhian Model
&5y Sore o Sharar

@
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147. In 2011, the country with the largest number of illiterate people was
2011 3 Bo3e65008" DEoHogen BRSSO & BEsw

(1) Brazil (2) China
@es S

3 India (4) Pakistan

LB 325

~ 148. The aim of Nehru Rozgar Yojana is
AT eamd diresss ooty Soogs G0

(1) To benefit rural poor (2) To benefit agricultural labour
rabes Do BDFastn DErEn Sesirad ErdefH Baressy DLty
‘\/ (3) To benefit urban poor (4) To benefit rural artisans

SEIoB DEEH PAFESSD DEFENL  [rabes 5 SUT08 Bdressn DErtine

149. Which of the following relates to social infrastructure?
000 (§08 TRE Frohol eSTBBENND Sowodods

(1) Roads (2) Ports
ST SR

(3) Power Plants \/ (4) Hospitals
DS &yd Sores esdoSdoes

150. Fourteenth Finance Commission's recommendations apply to the period
STryes €08 Sogon dlood), MErEyes eles 207 Sekn
(1) 2012-2017 (2) 2013-2018
(3) 2014-2019 \/4} 2015-2020
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